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1 i kB EFSKE 38 37 75  FEEBE
2 = OEX EFSKE 36 40 76  FEEE
3 ¥EiI HR Ik B i@ O 42 36 78 FEEE
4 fRiE 1E{E J1)—2eILE 40 38 78 FEEE
5 INE BB Iz B2 B 37 41 78 FiEEBE
6 KEF = 53 36 42 78 FEEB
7 gk & I B2 55 O 41 38 79 FEEE
8 Sl EE I B2 AR R 41 38 79 FEEBE
9 HERR &K th &R RE K 40 39 79 FEEE
10 %H EZ Ak 40 39 79 FEEBE
11 WE EE EFSER 40 39 79 FEES
12 ARER EFSER 40 39 79 FEEBE
13 WIF BN B = 1L 43 37 80  FiE&EB
14 W —E f—o&KB 39 41 80 FEEIB
15 [ A Iz B2 (=] R 39 41 80 FEAB
16 KE IEX B R 37 43 80  FiE&EB
17 HH &R sz B2 %5 OO 42 39 81 & @A
18 =@ = Ik B2 i@ O 41 40 81 & @A
19 XB IE% =& 41 40 81 ¥E &
20 GEAO BEXx FReBE = 1L 41 40 81 & @A
21 HE = B 40 41 81 & @A
22 £=F BF R &R RE K 40 41 81 FEE R
23 Nk Ez B4 R 39 42 81 & @A
24 Rl 2B I B[] % 46 36 82  FEER
25 RAN ERm PEM 43 39 82 | FEEIB
26  BF RLHE EFSXE 42 40 82  FEEB
27  #M  BRIE I B 4t 42 40 82  FiE&EB
28 KR B R 41 41 82  FiE&EB
29 EHE #3 sz B2 %5 OO 40 42 82  FiE&EB
30 CAH & I B 4t 39 43 82 | FEEIB
31 WHE B s B 4t 39 43 82  FiE&EB
32 Hf —E Iz B 3t 45 38 83  FiE&EB
33 Hg =E BrE 45 38 83 | FEEIB
34 & BB 5 43 40 83  FEEB
35 FEIl gD Kig 43 40 83 FEEB
36 FEHE MA BRE I 42 41 83 FEEB
37 FE B3 ESEE 41 42 83  FiE&EB
8 FE UE B4 R 41 42 83 FEBEB
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39 BHE —X% G=R i m] 44 40 84  FEEB
40 FE ER PEM 44 40 84 | FEEIB
41 R B Iz B 4t 44 40 84  FiE&EB
42 BH EE Iz B2 B8 43 41 84  FEEIB
43 BE % I B2 55 O 43 41 84  FEEIB
44 @A B I B[] % 42 42 84  FiE&EB
45 hf =& Bk 42 42 84 | FEEIB
46 M IE 51)—re)LES 41 43 84  FEER
47  Jt&t &R EFSHKE 46 39 85  FiE&EB
48 BHIE FReEE = L 45 40 85  FEER
49 @ %8 Ak 44 41 85 | FEEIB
50 HH IEZXE B R 43 42 85  FiE&EA
51 fnE ZEiS B R 43 42 85  FiE&EiA
52 ERH % 53=w.N-} 43 42 85  FiE&EA
53  HEH EA BAEE I 43 42 85  FiE&EA
54 M BB I B[] % 43 42 85  FiE&EA
5  ¥& B#0 53=¥.N-} 43 42 85
56 KE = J1)—2eILE 42 43 85
57 H0 X Iz B2 B8 40 45 85
58 &=t B ez B2 3t 40 45 85
59 ¥H AE Iz B2 ] 47 39 86
60 HH X I Bk 46 40 86
61 ZH OB Ak 45 41 86
62 EF C EERE 44 42 86
63 REE A 53=w.N-} 44 42 86
64 HiE T2 I Bk 44 42 86
65 INKE XE s 2 B 42 44 86
66 B HE Bk 41 45 86
67  EM X3} s B2 B 41 45 86
68 HitE ExZ s B AR R 46 41 87
69 BJK IEL EERE 45 42 87
70 N OE Iz B2 BS 45 42 87
71 B BR Iz B 4t 45 42 87
72 FHHA EE Bk 45 42 87
13 KRk FE Z R 44 43 87
74 KA BER FAEE 43 44 87
75 HE BE— f—o &K 43 44 87
76 NE BAA GA=Xm| 43 44 87

2/ 4R— I BRIBT)LDER




VR 284EE H39H KRR T7~F 27N 7 BFHEREE (TB)

w17 oy
BEEE H : 2016/4/15
W FEAEREITILIEREE R— 72
% £10v9% & 6,794y
JIE 5z K4 FriE ouT IN GROSS
77 O HE BREE I 43 44 87
78 k% B B R 45 43 88
79 TE E— Ik B2 i@ O 45 43 88
80 H# ;= e B[] % 45 43 88
81 211 HME Ik B2 i@ O 45 43 88
82  dJtig 7 AF—KRE 43 45 88
83 &M Eif ByrE 42 46 88
84 FHE Et Iz B 4t 41 47 88
85 Hfh & KiE 49 40 89
86 XF ME Ik B2 i@ 01 46 43 89
87 HEE X B4R 46 43 89
88 &= &L I B A B 45 44 89
89 #EF ME KiE 50 40 90
90 IR HEE Iz B2 55 O 49 41 90
91  thE Iz B2 B 47 43 90
92 BXK *=E Bk 46 44 90
93 AA X&E 53=¥.N-} 46 44 90
94 X% = I B 4t 46 44 90
95 K% & EFASER 45 45 90
96  JkiE ERER Ik B2 i@ O 45 45 90
97 IL#E BEZ PEHLT 44 46 90
98  HF {#ARER KiE 43 47 90
99 L% #Z,— HEINER 43 47 90
100 (R &xE 51— eI 43 47 90
101 [HA #X EFSER 48 43 91
102 FHE #HS 51— eI 48 43 91
103 HH B FTASURERE 47 44 91
104 A% = KiE 46 45 91
105 JIlO &3] J1)—2 e )L 46 45 91
106 HBXK Rt FreBE = LU 45 46 91
107 L& 1B8* 53=5]d 42 49 91
108 FI3H Z# sz B2 B 50 42 92
109 Z—# BB HEER 49 43 92
110 U@ Ex EFLER 49 43 92
111 ENl &X PEHT: 52 41 93
112 k#E E# J1)—>E)LES 52 41 93
113 HJII Iy Bk 51 42 93
114 K& EB J1)—2eILE 48 45 93
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115 HF "E I B[] % 48 45 93
116 RFHFHE BA Iz B2 B8 47 46 93
117 XK X PEM= 46 47 93
118  {FH =& B~ R 46 47 93
119 mHE sz B AN B 45 48 93
120 BR&ER 0% ERII 43 50 93
121 @& ®F ESER 40 53 93
122 #HA BHB 1) —2 e L 47 47 94
123 EH EZ Is; & [E|fR 47 47 94
124 %y & FeEES 1L 47 47 94
125 /H EE Is; & [E| R 46 48 94
126 Z£H EX TA)—E L 49 46 95
127 X% =E ESER 48 47 95
128 [EH &X EASER 47 48 95
129 FX F Is; & [E|fR 47 48 95
130 /ME Eih I B FE 01 51 45 96
131 #MH TiE f—2 285 51 45 96
132 4H EE Bk 47 49 96
133 28 [F—ER KiE 47 49 96
134 EF PEHIT= 47 49 96
135 fEH EF BR%EE I 53 44 97
136 EX 1B BIEIR 49 48 97
137 PER E=EX PEM= 56 42 98
138 =% % AF—KRE 45 53 98
139 KW #3h Iz BB g O 54 46 100
140 {FiE KJBER PEHIT= 54 47 101
141 i FZ PEM= 50 51 101
142 HH B— REES L 48 53 101
143 TR &®A sz & [E|fR 50 52 102
144  #H B FReEE S LU 61 47 108
145 B TE E# REES L 52 59 111
Rim BHF EZ I & 3t
Rim  FEL FE ) —>2 eIV
Ri; Rk Fis F—2 o35
Rig KR #E f—o&KB
x5z BRIl %18A sz B2
Ri5 R FERE Iz B 4t
Ri;m Pk KL Xi8
Riz HE RE Iz B2 B8
Rig  KF == 1) —E)LES
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